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Note: All questions are compulsory. Carrying of mobile phone during exammatzonfmglf b&

treated as case of unfair means.

1) Prove that the height of red-black tree is log(n). [2 Marks]
2) What is the complexity of skip list in case of Insertion and Searching S, 5, [2 Marks]
£ 3) Explain counting sort. Write its algorithm and derive its complg%il% : : = [3 Marks]
4) Construct a red black tree in the order 2,1,4,5,9,3,6,7. ffj:\i”"‘%‘i@; [4 Marks]

} ize m=10 with open addressing using

the auxiliary hash function h(k) = (2x° )%3+(51IL&))s o7+%7X)%9)%m Illustrate the result of inserting
these keys using quadratic probing with ¢1=1 and 32—3’@ [4 Marks]
é%*
6) a) Run BFS algorithm on the directed grapl,}'»b
Es,

5) Insert the keys 3, 7, 10, 8, 11, 5, 6, 7, 9, 41ntoahas%xtable ofﬁs

el ov“;%%smg vertex S as the source. Show all  distances,

queue and the BFS tree. [S Marks]
b) Run DFS algorithm on the dlrec ph below, using vertex S as the source. Compute the start
time and the finish time Qf eac 3 X, show the stack and draw the DFS tree [5 Marks]
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